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get magnified
Q It seems that such errors can accumulate

through the steps of any ago Then how
do we guarantee accuracy
Show code for watkimZ G ISZ 6 z 2GL
sdntn Let any algo be defined
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LCA b At Data CA b
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Directly amputing Forward error is
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somewhere in the intermediate steps
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It is often easy to bound backward error
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Note Sensitivity has nothing to do with

floating point operation
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Proof Exercise

From previous FACT
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Backwardstable rather loosely used either
B E is small or

Big e.g II
From the above tha B E is small only when
11111 M1 are small

LU without pivoting Lu with partialpivoting
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